

Previous Answer:

$(3, -4)$

$$y = \frac{1}{4}x - 8$$

$$y = x - 5$$

© Gina Wilson (All Things Algebra), 2013

Previous Answer:

$(-4, -9)$

$$y = -x + 2$$

$$y = -5x + 6$$

© Gina Wilson (All Things Algebra), 2013

Previous Answer:

$(1, 1)$

$$y = 2x + 6$$

$$y = -\frac{2}{3}x - 2$$

© Gina Wilson (All Things Algebra), 2013

Previous Answer:

$(-3, 0)$

$$y = \frac{4}{5}x - 4$$

$$y = -\frac{1}{5}x - 9$$

© Gina Wilson (All Things Algebra), 2013

Previous Answer:

$(-5, -8)$

$$y = \frac{1}{3}x + 4$$

$$y = 1$$

© Gina Wilson (All Things Algebra), 2013

Previous Answer:

$(-9, 1)$

$$5x - y = 6$$

$$x - 2y = -6$$

© Gina Wilson (All Things Algebra), 2013

Previous Answer:

$(2, 4)$

$$y = 3x + 2$$
$$2x + 3y = -27$$

© Gina Wilson (All Things Algebra), 2013

Previous Answer:

$(-3, -7)$

$$x - y = 7$$
$$x - y = -1$$

© Gina Wilson (All Things Algebra), 2013

Previous Answer:

\emptyset

$$x + y = -5$$

$$5x - 6y = -36$$

© Gina Wilson (All Things Algebra), 2013

Previous Answer:

$(-6, 1)$

$$3x + 4y = -20$$

$$x = -8$$

© Gina Wilson (All Things Algebra), 2013

Previous Answer:

$(-8, 1)$

$$6x + 3y = -12$$

$$y = -2x - 4$$

© Gina Wilson (All Things Algebra), 2013

Previous Answer:

∞

$$-3x + 9y = -45$$

$$y = -x - 1$$

© Gina Wilson (All Things Algebra), 2013